PROFEX SZAKNYELVI VIZSGA vizsgaz0 sorszama:

C1 (fels6fok) — angol nyelv

frasban teljesitend
Olvasaskeszseg MINTATESZT

Olvassa el a két szoveget és az olvasott sz6veg alapjan oldja meg a két feladatlapot.

Elérheté pontszam: 20 pont

Figyelem! A vizsga akkor lehet sikeres, ha a vizsgazo részegységenként legalabb 40%-ot teljesit.
Veégsé megolddsként csak a tintaval irt valtozatot fogadjuk el.

Kerjuk, hogy jol gondolja meg a valaszat, mivel barmilyen valaszmodositas esetén valasza érvénytelen.

MEGOLDOKULCS
1. szdveg (459 sz0)
. feladat
a insufficient legal protection for intrusion into privacy 3
b the self-regulation of the media -
c intrusion into privacy may constitute a crime 4
d celebrities and politicians against paparazzi -
e a precedent extending the scope of nuisance 2
f domestic law fails to safeguard a particular human right 1
. feladat
1./
A Respect for private life is ensured by tort law.
B. The law protects paparazzi more than public figures.
C. The tort of nuisance provides protection against defamation.
D. Invasion of privacy may be accompanied by defamation.
2./
A Miss Khorasandjian was protected by the tort of nuisance.
B. Authorities protected only owners.
C. Following this case, only owners of property can sue under nuisance.
D. Following this case, the privacy of celebrities can also be protected.
3./A Nuisance is related to the interference into private life.
B Privacy is protected under tort law.
C Private property is the subject of nuisance.
D Some situations are quite close to invasion to privacy.
4./A Politicians often become victims of nuisance.
B Parliament deals with the issue of privacy when a politician is concerned.
C Politicians call for protection by Parliament.
D Politicians are protected by parliamentary authority.
5/A The press has been self-regulated since 1993.
B Calcutt made proposals which have not been accepted yet.
C It is a criminal offence to take photographs on a private property with the aim of

publication.
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D Calcutt’s proposal deals mainly with privacy.

6./A The American solution seems to be more attractive.
B Jackie Kennedy won a criminal action against paparazzi.
C In the USA intrusion into private life qualifies as tort.

D Jackie Kennedy acted against paparazzi.

2. sz6veg (1219 sz0)

|. feladat

Improper performance to which bribe relates

Offences of bribing and being bribed

Failure of commercial organisations to prevent bribery
Function or activity to which bribe relates

Bribery of foreign public officials

Cases of improper performance

>0
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Il. feladat

A person commits the offence of bribery by providing (1) financial advantage to someone else
to (2) induce him to improperly perform his function. The other party is guilty of this offence if
he (3) agrees to accept the advantage even without actually performing his activity improperly.
For the purposes of the Act, the activity is (4) relevant if it is carried out as part of the person’s
(5) employment or related to a business including (6) trade/profession.




